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EIE 20 26|-FHhF 10 13|%8 2 (2 cmfE 4]) 50 60|Fb 1.20 1.44
FE 0.2 0.26]2BsT 12{ 15.6|fzFhR & 200 24|L &S50 2.8; 3.36
M TH) (LEH) 10 BHRE—Y—2 1.81 2.34|F ¥Ry 20 24| Rk E 1 1.2
SRkE 0.1 0.13|5Fvv 7 4.5 5.85|kKH4L 20 28|KHY A 11,2
HYH5IL—4 20 26|15 0.1 0.13|L&S5W 1 1.2 0.05{ 0.06
HFRA—TDOE 0.2 0.26]cL &> 0.01: 0.02)5A0k;H 2t 2. 4|lcFEDH 15 18
15 0.1 0.13|FESHASL 0. 02710. 03&] &4 Y A 0.5/ 0.6
B |cL«> 0.01! 0.02 Fha 1 1.2|<r=Eh¥OrkMET>
<ESNHAEDYT—> P L kg 21 2. 4)|f=FhFE 20 24
L<GY—=vRF > ¥4 0.5/ 0.6|F#»% 2 2.4Leh 20 24
Conatnrg 50 60|IF5 hAE 25 30 v bhhod 0.5 0.6
) 0.11 0.12]%F ¥R 20 U[<D>EXRBOL=HED> T3 Y& 1.5 1.8
# ZL&S 0.01} 0.02|k—)a—> (&) 81 9.6|v 54 0.5! 0.6|Fa»% 4.25! 5.1
REy (87) 0.04} 0.05|% 0.2¢ 0.24] k48 40 48|B A # 4.25! 5.1
ZL&S 0.01} 0.02|IcACA 5 6l 71 8.4
<EBEOR—T> L&S5® 0.2 0.24);mizF 5 6
R—av (A) 5 6 ke 0.4; 0.48]<nAFADEHZ>
IACA 8 9.6l<ASTINR—TF> SRk E 1 1.2|Ev0AITA () 20 24
FrRy 20 2|R—a> %) 5 6|lL&S5H 21 2.4lKHHL 20 24
KR 10 12llcA LA 10 12 IZALCA 8 9.6
Y=V TFRINSHR 70 8. 4| x4R 20 Bl<mELFET> I+9°Y & 0.5! 0.6
ERR—TDE 1 1.2lteatng 20 28|F LU= (RS54 R) 0.5 0.6]x&vVA 0.5/ 0.6
b=t 0.2{ 0.24|BFEL=H (%) 5 6| == 20 28lL £50 21 2.4
ZL&S 0.01} 0.02[¥RR—TD%K 1" 12l YEs 1.50 1.8|AZFE (L\Y) 0.5! 0.6
et 0.31 0.36]|59<HBL&LSW 20 2.4FYCE 0.5! 0.6
<FHTH—F> ZL&S 0.01} 0.02|i& 0.3/ 0.36
FAFH—+ 40 a0l 1) 1 1.2|cAm 0.5! 0.6]<@=>
b4 20 24| %51EME (2 L) 30 40
<F—Z> ES5NAE 10 12
BAF—X 15
EE-T INEER PR INEES PR INERR AR INERR AR
IRILF— (Keal) 596! 738| TR/ F— (Kcal) 602! 799| TR/ F— (Kcal) 594 736 &I F— (Kcal) 6031 758
=AIECE (g) 24.51 29.9]-A1E<E (g) 26. 1 Bl=AIECE (g) 28.51 33.5|=AlE<CHE (g) 28.11 33.9
58 (g) 151 16.7|lEE (g) 21.31 29.4]E®E (g) 16.6 18.4]85% (g) 15.70 17.6
BIEHNE (o) 1.7 ABIEHELE (o) 2.8] 3.8|EIEtHLE (g) 190 2 2|8iRENE (o) 2.1 2.5
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